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Image Processing Method For Data Analysis

1. Distance between fiducial
center and cetner of window
IS 19 mm.

2. The fiducial length
IS 10 mm.
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Influence of Magnetic Field and Gravity on Jet Trajectory
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Global Fitting of Jet Trajectory and Jet Parameters
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Designed Nozzle Parameters

Nozzle Position
Nozzle Angle : 2 degree (35 milliradian)
Jet Velocity : 15 m/s (20 m/s)

- -14.4 mm




Geometry of Hg Deliverey Loop and Head Loss

Secondary containment (ID=6"") Pressure Sensor

Mercury inlet pipe (OD=1")
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Green, Mercury jet at 33 mrad to magnet axis
Blue, Proton beam at 67 mrad to magnet axis

Red, Magnet axis

Ceometry 1n pipe for mercury loop Calenlated pressure head loss | Percentage in total pressure head loes ()
Fricticn by surface roughness 1.2212 26.9
Elbows m pipe bend [ 3 «90°, 2 <23 | | 0.2265 i
Reducer, Contraction in nozzle 0.5645 12.5
MNozzle exit 2.5222 556
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Pipe Inlet Pressure
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Magnetic field (T)
Stagnation (Total) Pressure = Dynamic Pressure + Static Pressure
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Jet Velocity in Magnetic Fields

16 20
) @
g S
= 14- 4 >,
AN S PolEs
0 i >
= 12 .E,
- — o
E m B=0 L 10-
S 104 o B=sT | &
T A B=10T S
= v B=IST | =
= (@]
ﬂ 8 T T T T T T 3 5 I
20 40 60 80 100 0

@® Nozzle velocity

Distance from nozzle (¢cm)

I T I

3) 10
Magnetic field (T)

15




